Efficiency vs Dxy(PV)
0.5

0.45
o 0.4
30.35
0.3]
0.25
0.2
0.15
0.]]
0.05

vs dxy(PV)

efficien:

Ratio
=
o

=20 - 15 20
TP dxy(PV) (cm)

—=— DQM_original_step2_ttbar-phasel-newgeom

—— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

—— DQM_pixelCPETemplateCutChiSquare5_step2_tthar-phasel-newgeom

| Efficienc] —— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom_test

efficiency vs dxy(PV)

Ratio

™ dx&/(PV)' (cm)

Efficiency vs Dz(PV)
0.

PV)

C
o
=
)
AR R Lo AL LN AR R L

o

o

[N
T

0 10 20 30
TP dz(PV) (cm)

0.5 1
TP dz(PV) (cm)



	Contents
	Page 1


